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1. (i) Give the product of the following reaction -

=1 arfofrr @1 SaE Tad

Na + Liq. NH3

R—C=C—Fp
(i) Define Asymmetric synthesis.

ST FeeeT B gREa B

(i) Which intermediate is formed in the Aldol

condensation?

TSt e AR ¥ PiF-ar qerEdl sear 27
(iv) Define synthetic equivalent.

HRINT el B qreea Hivw
(v) 232 is Ioioﬁon_n ligands?

B ffogy 87

(2) MSCCH-07 // 800 // 6
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qe: el A g9 3 IOY AT oY TR I9X & SAfdrman

200 gr=f § ofEifia i 9% 999 8 ofF @ B
Explain the oppenquer oxidation with their mechanism.
HIUTER Sfeiier #i Braafy aftd g

Define Homogeneous hydrogenation. Describe the
homogenous hydrogenation bny Wilkenson Catalyst
example.

BIISIISTY STERISTHIGITT 1 27 BRI SEgS s
F RfcwTaT IBRF B IO EW FHAN

Write briefly about Suzuki coupling reaction.

I g SRR @ WA § R

Wirite the most important characteristics of a good
protecting group. Give two examples each for
protection of alcohols and amines.

NIRRT G % weEyel a4y 7 Yehiele O TN
% MR I -3 I A THHEAI

Identify the most appropriate disconnections for the

following molecules and explain.
A R ™ el 3 Sugw Ruwiws B veatR o
A4

(4) MSCCH-07 // 800 // 6

Write shortnotes on -

s e feweht fafed -

(i) Consecutive synthesis Hwiagied HLRITT
(ii). Convergent synthesis &aeie HIATOl

Explain enantiomer and diastereomer differentiation

reactions with suitable examples.

=Y o srRefeam skt sffhanett @ Saret
afed aHsEdl

Explain the prevost reaction with suitable example.

i o B SaTE Hfed SR
Section-C
(Long Answer Questions)
gve-q
(& suda 9)

Note: Answer any two questions. You have to delimit your

answer maximum upto 500 words. Each question

carries 16 marks. . 2x16=32

(5) P.T.O.



